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" /+% Location 2ella: f= 3= B2 CE RIRIMRIS| HEl AL * [

public class Location — 2|_|_0-||k| 2 X| Eol- 7|'OE 7=IE
{ /x* MEXt: Z7|SFSICE */ E 2AM5 |-h 742 dix|
private double latitude; - =22 0] S0 4d<oh I H
private double longitude‘ 4

5|8

public void setLatitudé(double lat) {

if (lat < =90 || lat > 90) {
System.out.println(”“Illegal value of latitude!”);
}
{ this.latitude = lat; }
}
\_ Wy
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Deposit of $ 50.50
Current balance = $50.50
Withdrawal of $ 30.33
Current balance = $20.17
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/
/** printPolarity: QlF7I 2K 2K ==

* @param i - Qg */

public void printPolarity(int 1)
{

System.out.print ("2l " + i + "E ");
if (i< 0)
HOAH)

System.out.print ("=

4

else

uol:A n ) ;

System.out.print(

System.out.println("L|C}."
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import javax.swing.*;
/** ConvertHours: A|lE =2 st
*k Oolgd. OFA

H—e. oT

* B QR AIZIS £2 B 4 */

public class ConvertHour
{
public static void main(String[] args) {
String s = JOptionPane.showInputDialog("AlE YLHGIHL:");
int hours = Integer.parselnt(s);
if ( hours >= 0 ) {
// A7t L007| HE0| =E ALE 5 QICt,
int seconds = hours * 60 * 60;
JOptionPane.showMessageDialog(null, hours + " A[ZI2 " +
seconds + " =QLICE.");

h

else {
// M7t 8%0[7| W20 2FO|Ct,
JOptionPane.showMessageDialog(null,
"ConvertHours error: negative input

n

+ hours);
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4 ) o Input
import javax.swing.*;

ﬁ) TWIXI ‘

String s = —
JOptionPane.showInputDialog (“HA[X]7); Cancel  (NOKINN
\_ 4

O new= AFESHA] ZHA|1E Mdet 27t glCt.

O JOptionPane 7} 2= Y= Chal| &=Lt

O HAX] &= TS0 Qi3S 2okA 22 IS HA &0

O FA(Cance)2E! Al nullg 'E7HZELCE (null = 240 &)
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import javax.swing.*;
/*¥* ConvertHours: AIE =2 BH&t
3 olgd. OFA

H-— . o1

B QR AIZIS ER HEEH 4 */

public class ConvertHour

{
public static void main(String[] args) {

String s = JOptionPane.showInputDialog("AlE LGN, 7);

int hours = Integer.parselnt(s);
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a4 Ty 000 Message

import javax.swing.*; & BAIx)
)

JOptionPane.showMessageDialog(null, "O[A[X]|");
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import javax.swing.*;
public class MakeChangeAgain {
public static void main(String[] args) {
String s = JOptionPane.showInputDialog("Type dollars, an integer:");
int dollars = Integer.parselnt(s);
if (dollars < @) {
JOptionPane.showMessageDialog(null, "MakeChangeAgain error: negative dollars: " + dollars);
ks
else { // dollars amount is acceptable, so process cents amount:
s = JOptionPane.showInputDialog("Type cents, an integer:");
int cents = Integer.parselnt(s);
if (cents < 0) {

JOptionPane.showMessageDialog(null, "MakeChangeAgain error: negative cents: " + cents);
ks
else {
if (cents > 99) {
JOptionPane.showMessageDialog(null, "MakeChangeAgain error: bad cents: " + cents);
ks

else { // dollars and cents are acceptable, so compute answer:
int money = (dollars * 100) + cents;

String output = " quarters = " + (money/25);
money = money % 25;

output = output + "\n dimes = " + (money/10);
money = money % 10;

output = output + "\n nickels = " + (money/5);
money = money % 5;

output = output + "\n pennies = " + money;

JOptionPane.showMessageDialog(null, output);
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import javax.swing.*
public class MakeChange {

public static void main(String[] args) {
boolean ok = true;
int dollars = getInt("E2{7");
int cents = getInt("HE?");
1f (dollars < 0)
{ showError(dollars + "= S=LICE."); ok = false; }
1f (cents < 0)
{ showError(cents + "= S+LICH."); ok = false; }
if (cents > 99)
{ showError(cents + "7} 100 O|&RIL|Ct."); ok = false; }

if (ok) { // Hdi=2 = UHO|L| AL= AESH =77

}




Eala_ true && true => true
El && E2 . . g false && E2 => false
COﬂjUI"IC on (an ) El && false => false
=35t false || false => false
— =

E1l || E2 disi i true || E2 => true
isjunction (or) El || true => true

B hI_:E|C£|| ltrue => false

' negation (not) false => true
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import javax.swing.*;
public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");
int cents = getInt("ME?");
1f (dollars < @ ||l cents < @ || cents > 99)
showError(dollars + " E= " +
cents + "= ZXRE LY
else { // A= & [YHOIL| AHlE AXs =277







O EHE=A|L (short-circuit evaluation)
]
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O x<0 y<O0
==> -1<0 y<O0
==> true y<0
==> true

O x!=null && x.method() <

x.method() && x!=null = & 2 8= FX| ¢4=C
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/** twelveHourClock: 24A[ZIHIE 12A]ZHNZ HHE
* @param hour - Al (0~23)

* @param minute - & (0~59)

* @return 12A|ZHH] AlZE (EXIE) */

public String twelveHourClock(int hour, int minute)

{
String answer = ""; // ©E O0{7|Ct £X& Z0|Ct.
if ( hour < 0 || hour > 23 || minute < 0 || minute > 59 )
answer = "®2 2T " + hour + ":" + minute; // 2F
else {
if ( hour < 12 )
answer = answer + "% "; // 2H
else
answer = answer + "2%F "; /] LE
if ( hour >= 13 ) // AlZtO0| 130[40|H 128 = FZQIC},
answer = answer + (hour - 12);
else // 0~12A|e] AL o= ZQICt.

answer = answer + hour;

answer = answer + -

if ( minute < 10 ) // =0| stxjg|sel L 0= F7t
answer = answer + "0";
answer = answer + minute; // =2 =CIC}t.

}

return answer;

}
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CtS X742 switch

O H=0] Cfsl ChE2t 22 Z=4F WE0| Xk Li2LCk
O if(x==0) ... else if (x==1) ... else if(x==2) ...

SRE=NIELV PO Py

O LC}s &7F switch
O switch(x) { case 0: ... case 1l: ... case 2: ... }
O "W HY| E0L




switch 22| 2811t o|0| =

I

HO

o|0f+tz=

: HIAFAI
switch (7+1|I__| ) o J{AAIL K| | B2X}
{ case #;: o N DTl AFA
HHE ; o 22 ALt At dr
break; o HiA L O}E|[C
case uf,: A= QLD
HHL; e O, 2= "a'
break;
- . T AL L2 U2 X
case af, 0 Ot=|C}
PYE,;
break;
default:
(B = = R
O OL—n+17r
}
1. AXAS Z|trettt. 3 Z1HE vet ShAY,
2. v7b 242 S5, =M Y-HE S Al
3. vet 2 40| o™ defaulte| HHE, 2 FJUSICL




O case 0|l= 22t £ £ QULCH

O if(x==1) ... else if (x==2) ... else if (x==3) HEHT switch
FO= LA 71

O H|m9IAEK}
O if(x<10)

= 8t

= AA
— —
2
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witch =22 ChA|E == GiCt.



csEeEEéuMwEE®
Ol: break; & UX|EA}

O switch =8| ZF B20j|M break; E MX| &2 42 O
O|ASHA| &t

O 02] 320 €2 SA= ol o= = /S

1L

O switch(x) {
case 0O:

case 2:

-}
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O 0|2] (exception
O 0|27t edsiH 2 SE0| 27ICt &, 20| Z=5}
A =ic}
O 2E of|2lof st HIAIX|Z E=EICE
O System.exit(0);
O HI2 Z22Hs =Fs6I

O return; EE= return <H|[AHS:
O HIZ HAEE ESF3ICL
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import javax.swing.*;
public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");
int cents = getInt("ME?");
1f (dollars < @ ||l cents < @ || cents > 99)
showError(dollars + " E= " +
cents + "= EHZEE LHULICE.");
else { // HUZ FEl UHOIL| HrZS A|ZEH =777
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import javax.swing.*;
public class MakeChange {

public static void main(String[] args) {
int dollars = getInt("&2{?");
int cents = getInt("ME?");
1f (dollars < @ || cents < @ || cents > 99) {
String error = dollars + " E= " +
cents + "= EXE LHYLICE ",
throw new RuntimeException(error);

}

// MHZ F g=H0|L] AIME AlES =77 (else?t ELEICH
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return= Ar2ol EX

/public String twelveHourClock(int hour, int minute)
{
String answer = ""; // 2 07|C} F£&g ZO|Ct,
if ( hour < 0 || hour > 23 || minute < 0 || minute > 59 )
answer = "2 2T, " + hour + ":" + minute; // 2F
else {
if ( hour < 12 )
answer = answer + "% . // E
else
answer = answer + "2% "; // 2=
if ( hour >= 13 ) // A|ZtO] 130[|A0|™ 12 = ZQICE,
answer = answer + (hour - 12);
else // 0~12A|2] AL OfjzZ E2QICt.
answer = answer + hour;
answer = answer + ":";
if ( minute < 10 ) // =0| stkig|0l 42 02 F7t
answer = answer + "0";
answer = answer + minute; // 22 =CICt
}
return answer;
}




return= Ar2ol EX

/
public String twelveHourClock(int hour, int minute)
{ _
String answer = ""; // ©2 O{7|C} F=Ag ZO|Ct.
if ( hour < 0 hour > 23 || minute < 0 || minute > 59 )
return "2 @F " + hour + ":" + minute; // 27
if ( hour < 12 )
answer = answer + "Q% ". // A
else ) .
answer = answer + "2% "; /! 2=
if ( hour >= 13 ) // AZHO| 130|40|H 12 = ZQICt,
answer = answer + (hour - 12);
else // 0~12A|2] AL OCiZ ZQICt.
answer = answer + hour;
answer = answer + ":"; i )
if ( minute < 10 ) // 20| stXj2[Ql 42 0= F7t
answer = answer + "0";
answer = answer + minute; // =2 =2Ct.
}
return answer;
}







O D, &2 (deposit), Zt ME
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O Q, = (quit)
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Caz ) Gz

oo0. e ... MyAccount: Deposit of $ 50.50
=, FEomesaus vus, Current balance = $50.50

| | MyAccount: Withdrawal of $ 30.33

‘ Current balance = $20.17
Caz) =) | |

R
1d 50.50
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%%CDJ_'I:I-E‘ 7:”}_'—9‘ MVC —_l- AccountManager

- = TS
olziS uto T2 1o Iﬂi"l}b%?_{ =

BankReader |‘ AccountController
BankAccount |‘ BankWriter

ALk Z210=H




%%C)JEI'E‘ 7:”}_|_9‘ MVC _JrAccountManager

main
BankReader ) AccountController
readCommand(): char T :
readAmount(): int processTransactions()
BankAccount e BankWriter
public .String. account_name showTransaction(String
private int balance message, int amount)
deposit(int amount): boolean showTransaction(String
withdraw(int amount): boolean message)
getBalance(): int




HAM|: class BankAccount (2 2)

‘AEXE

].Banka;cc.:ognt (String name, 7:”}4_ O|§-'_—'|' E,LOJ','% _7TS7|§|'

int 1nitial balance)

A

=4

public String account name AZte| 0|5

private int balance 7;||_7,c_|.9_| I|_|-0_I|1 (%I:-JF)

HAE=

getBalance(): int XoH= dHigl

deposit (int amount): amount”t Y=0|™ H|z} ZHHof| ottt =20 d=
boolean ot™ true, OIL|™ falseE HH3t

withdraw (int amount): amount’} 2=0|™ 7|Z| ZHHO|| A HICE, SZ0f| 84S
boolean ol true, AIZH7F FE5HA AllistH falseE et

38




CoeneEmiwAweE =0 0 0 9000 000
BankAccount 2E, ‘49X, getBalance

-
public class BankAccount {

public String account_name;
private int balance;

public BankAccount(String name, int initial_amount) {
account_name = name;
1f (initial_amount >= 0)
balance = initial_amount;

else
balance = 0;
¥ N | |:|.||)\|: .
. & M~ (getter):
public int getBalance() { L 742 ol7|of BHe HAL
return balance; =— HAZ 2171 Ol HllZ=—=

h
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BankAccount.deposit

-

public boolean deposit(int amount) {

boolean result = false;
1f (amount < @)

JOptionPane.showMessageDialog(null,

"AXE Mol BAIRLICE. ")

else {

balance = balance + amount;

result = true;

}
return result; ':':'75' | E(setter)'
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BankAccount.withdraw

-

public boolean withdraw(int amount) {
boolean result = false;
1f (amount < @)
JOptionPane.showMessageDialog(null,
"AXE SZHOI2F BAIRLICE. ")
else 1f (amount > balance)
JOptionPane.showMessageDialog(null, "Zt7p B=§HCH ™);
else {
balance = balance - amount;
result = true;

¥

return result;




L —
HA|: class BankReader (2 £)

44
private String 2-E|:|_O_I| O|E=|E| |:|:|Ez|o_l
input line L
| A~ =
readCommand (String ?:IE—:!%I'% o HEHOE %IE—:!EI:I'EH'. %IE!E._I
message): char H2{0{o| HIXIS el
=20 Y= YA HSXHE Helet =2
readAmount(): int A xx.yyE 222 sHAM M HEZ Hsts}
o gt
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BankReader.readCommand

-

import javax.swing.*;

public class BankReader {

private String input_line = "";

public char readCommand(String message) {
input_line = JOptionPane.showInputDialog(message).
toUpperCase();
return input_line.charAt(0);




csEeEEéuMwEE®
BankReader.readAmount

-
{

public int readAmount()

int answer = 0;
String s = input_line.substring(l, input_line.length());
1f(s.length() > @) {
double dollars_cents = new Double(s).doubleValue();
answer = (int)(dollars_cents*100);
ks
else

JOptionPane.showMessageDialog(null,
"FAS UEHSIK| ZoF 022 X2[L|CEH. "),

return answer;
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HA|: class BankWriter (28 &
M. class BankWriter (£
e
Ez;lnkerter (BankAccount 8%'71 }-l' bO_” I:Hén_l- %E—:! ‘||;|r glg
£
private BankAccount bank [O| &= H0f 2t=l 238 7|x}
last transaction =
H A=
showTransaction (String H| AR (message)Qf :O”(amount)Oﬂ
message, int amount) é-g; |ZL 7—|E|-|E 9|-I:I=|01| =<E=I
showTransaction (String H| AR (message)01| oliZst= =2 712
message) = stHoj| =4




csE2i6 2@y
BankWriter Z! =2} AHM X}

4 )

import java.text.*;
public class BankWriter {
private BankAccount bank;
private String last_transaction = "";
public BankWriter(BankAccount b) { bank = b; }
private String unconvert(int 1) {
return new DecimalFormat("0.00").format(1/100.0);

}

public void showTransaction(String message, int amount)

{ last_transaction = message + " " + unconvert(amount);
System.out.println(bank.account_name + ": " + last_transaction);
System.out.println("Current balance = $" +

unconvert(bank.getBalance()));

ks

public void showTransaction(String message) {
last_transaction = message;

System.out.println(bank.account_name +

h
\ Y

+ last_transaction);




e
M AM|: class AccountController (KX 7])

AL

AccountController

(BankReader r, BankWriter |Sl|& Cl-=2 HX|E =7|5}

w, BankAccount b)

&4

BankReader reader O|=IE—:|. -.'?'r

BankWriter writer s 5

BankAccount account RaEl- 230 A X}

H A~
siLto| 722 aasict. Z2 Ho|

processTransactions() Ol | X| € FE AL CIA| {2 E £alisl
Ct
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AccountController

-

public class AccountController {
private BankReader reader;
private BankWriter writer;
private BankAccount account;

public AccountController(BankReader r, BankWriter w,
BankAccount a) {

reader = r;
account = a;
writer = w;




AccountController.processTransactions

N

public void processTransactions()
{
char command = reader.readCommand("d& D/W/Q2t 2HS =sIML.");
switch (command) {
case 'Q':
return;
case 'D':
{ int amount = reader.readAmount();
if (account.deposit(amount)) writer.showTransaction("&= $", amount);

else writer.showTransaction("22& 25 ", amount);
break;
case 'W':

{ int amount = reader.readAmount();
if (account.withdraw(amount)) writer.showTransaction("&=2 $", amount);

else writer. showTransactlon("":L QF ", amount);
break;

ks

default:
writer.showTransaction("Z%2= H&E " + command);

ks

this.processTransactions();

1}

EEEEEEEEEEE——————.
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& class AccountManger

(" A

public class AccountManager {

public static void main(String[] args)

{ // create the application's objects:
BankReader reader = new BankReader();
BankAccount account = new BankAccount(“myaccount”,0);
BankWriter writer = new BankWriter(account);
AccountController controller =

new AccountController(reader, writer, account);

// start the controller:
controller.processTransactions();
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Secondary account: Inactive

Primary account: Active

Primary account: Deposit of $ 50.50
Current balance = $50.50
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Primary account: Inactive
Secondary account: Active

Secondary account: Deposit of $ 10.00
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AccountController2

-

public class AccountController2 {
private BankReader reader; // input view
private BankAccount primary_account, secondary_account, account;
private BankWriter primary_writer, secondary_writer, writer;

public AccountController2 (BankReader r, BankAccount al,
BankWriter wl, BankAccount a2, BankWriter w2) {

reader = r;
primary_account = al;
primary_writer = wl;
secondary_account = aZ;
secondary_writer = wZ;
account = primary_account;
writer = primary_writer;
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AccountController2.resetAccount

-

public void resetAccount (BankAccount new_account,
BankWriter new_writer) {
writer.showTransaction("H[ZHE");
account = new_account;
writer = new_writer;
writer.showTransaction("&4d");




AccountController2.processTransactions

-

public void processTransactions()
{
char command =
reader.readCommand("d& P/S/D/W/Q2t 22 SN, ");
switch (command) {
case 'P':
resetAccount(primary_account, primary_writer);
break;
case 'S':
resetAccount(secondary_account, secondary_writer);
break;

j..

this.processTransactions();

1}




Cmmermggiwee 0 000
& class AccountManager2

4 R

public class AccountManager? {
public static void main(String[] args)
{ // create the application's objects:
BankReader reader = new BankReader();
BankAccount primary_account = new BankAccount(0);
BankWriter primary_writer =
new BankWriter("#ZH#1", primary_account);
BankAccount secondary_account = new BankAccount(Q);
BankWriter secondary_writer =
new BankWriter("#|ZH#2", secondary_account);
AccountController controller =
new AccountController(reader, primary_account, primary_writer,
secondary_account, secondary_writer);
controller.processTransactions();

}




O 02| (exception), B2t (return), System.exit

O TE-E_F0{7] (MVC) 1=

O ShAS MALE HeE




